
4’x8’x1’ GROUND TOWER

© 2011 PLASTIC VACUUM FORMING, INC. 

HELPFUL HINT:
It is recommended that you enlist the aid of a “helper” to 

assist in the assembly.

NOTE:
Anchoring system is owner’s responsibility.

Plastic Vacuum Forming, Inc. assumes no liability for injury 
or damage to persons or property resulting from the use of 
it’s products or services. The products that we sell must be 
assembled, installed, anchored and used with care, caution, 
and common sense.

Please read all instructions before starting assembly.

RECOMMENDED TOOLS:
Open End 1/2” Socket Wrench
Deep End 1/2” Socket Wrench

BUNDLED:
Assembly Instructions & Item Listing Sheet
(2)  #12s - 84-1/2” 
(14) #13’s - 16”
(2)  #14’s  - 43”
(2)  #15 - 45-1/2“
(1)  #16 - 43”

BOXED:
(6)  #1’s - 12” 
(6)  Tower Pads
(1)  PKG of Nuts and Bolts

INSTRUCTIONS:
DO NOT TIGHTEN UNTIL ALL NUTS AND BOLTS 
ARE INSTALLED.

Attach #12’s to legs.

Attach #14’s to legs.

Attach #15’s

Attach #16

Attach #13’s

12103 Radium Dr. • San Antonio • Texas • 78216 • 210-344-8531 • 1-800-458-0263

a product of

3
2
1

4
5

Happy Hunting!

#1

#1

#1

#1#1

#14

#14

#15

#15#16

#13

#13

#13

#13

#13

#13

#13

#13

#13
#13

#13#13

#13

#12

#12

TOWER PAD

1-3/4”

1-3/4”
1-3/4”

1-3/4”

NUTS AND BOLTS PACKAGE:
(22) 2-3/4” BOLTS
(18) 1-3/4” BOLTS
(2) 3-1/2“ BOLTS
(4) 3” CARRIAGE BOLTS
(4) 5/16” - 1-1/2” FENDER WASHER
(50) 5/16” NUTS

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”

1-3/4”1-3/4”1-3/4”
1-3/4”

1-3/4”
2-3/4”

3-1/2”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

2-3/4”

3” CARRIAGE BOLTS

3” CARRIAGE BOLTS

#13
#1

3-1/2”


